UGC NET 2021 Arabic

Topic:- GP_20NOV_A_SH1

1) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six different colleges
(A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table, answer the questions.

College-wise Distribution of Students

College | [Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

arferest 3 U 310 sficps] & 3Men: uR Yool @ IR SifSre @

forgstifcpa arfermt ©: fafioor Asifdencril (A - F) 3 asol ol iz siik fenfii I gieroraar - Riavr o et geda ol 8 it ssifdencril 3 o oo
ferenfefii &bt 2izam 12000 3

HGIfdEncrI - ar faenfef o1 faasor

bretfemer | RenfRit 6t gfrerdar (%)ers®t 6t sz
A 12% 1000

B 9% 800

c 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

What is the total sum of the number of girls in College-C, boys in College-D and girls in college-E together?

JisiferencrI - C 3 arsfipRil 6bt, ssifencrn - D 3 aswl & siik wsifdencrr - E 3 asfisl ot e o g A a=m 3 ?

[Question ID = 3576][Question Description = S2_qSNz_PG_GP2_Q01]

1. 3400

[Option ID = 14301]
2. 3800

[Option ID = 14302]
3. 3200

[Option ID = 14303]
4. 3600

[Option ID = 14304]
Correct Answer :-
e 3400

[Option ID = 14301]

2) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six different colleges
(A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table, answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400




College | |Percentage (%) of students |Number of Boys

F 6% 200

arferest 3 f3U s1U sfibst B MR Uz Yeoll D Iar SIS @

forgatifena aiferot ®: fafieor aEifdencrl (A - F) 3 asol &l iz siiz fenffi &1 gfereraar - faravr o1 foazor gega ol 3 1sfl srsiferencril 3 fcra: @a
frenf2f=ii & iz 12000 3

FAGIfdEncerT - ar fenfiRi o1 faaur

etfrencrr | [Rrenfial Bt yferercar (% )crsat 6t sizeen
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

What is the respective ratio of the number of boys in College-C, the number of girls in College-B and the total number of students in College-
E?
FisifrencrI - C 3 crsdl &l vz, asifdencrI - B 3 asfipeil &t e iz ssifiencrn - E 3 @t fRenfeRil &t Fizen o1 @ sefurd o= 3 ?

[Question ID = 3577][Question Description = S2_qSNz_PG_GP2_Q02]
1. 45:7:97

[Option ID = 14305]
2. 43:9:97

[Option ID = 14306]
3. 45:7:87

[Option ID = 14307]
4. 43:9:87

[Option ID = 14308]
Correct Answer :-
e 45:7:97

[Option ID = 14305]

3) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six different colleges
(A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table, answer the questions.

College-wise Distribution of Students

College | [Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

(o 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

arferest 3 U 310 sficps] & Men: uR Yool @ IR SifSte ¢

forgstifepa arfermt ©: fafioor Aeifdencril (A - F) 3 asol ol iz siik fenfii I gieroraar - Rizavr o et geda ol 8 it ssifdencril 3 o oo
ferenf2fii &bt sizeam 12000 3

HGIfdEncrI - ar fenfef o1 faasor

ereifdencrr | [frenfft &t gfereraar (% )csel & szen
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200




What is the difference between the number of boys in College-E and the total number of students in College-F?
JgIfcEncrI - E 3 crsol &l Jizean siiz sAsifdencry - F 3 aer feenf2ii &b sizear @ i o= siaz 8 ?

[Question ID = 3578][Question Description = S2_qSNz_PG_GP2_Q03]
1. 1640

[Option ID = 14309]
2. 1760

[Option ID = 14310]
3. 1720

[Option ID = 14311]
4. 1680

[Option ID = 14312]
Correct Answer :-
e 1640

[Option ID = 14309]

4) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six different colleges
(A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table, answer the questions.

College-wise Distribution of Students

College | [Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

arferept 3 13U 31Q sips] @ MER UR Yool @ IR Sifte @

forgstifena aiferot ®: fiftieor FEIfdencrIl (A - F) 3 crsol & iz siiz fenffi &1 gfereraar - faravr @1 faazor geqa ol 3 it srsifreneril 3 fcrm: aa
ferenfeRal bt vizeam 12000 3

HGIfdencerT - ar fenfeRil o1 faazur

Freifencrr | [Rrenf il & gferoraan (%)ersel bt e
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

In which of the following colleges is the total number of students equal to the number of girls in College-E?
forgstifepa fopa1 Fraifrencr 3 ferenfeRil &t et dAz=n, FsIfdencrT - E 6t arsfisil &I dAw=n @& Terer 3 ?

[Question ID = 3579][Question Description = S2_qSNz_PG_GP2_Q04]
1. A

[Option ID = 14313]
2. B

[Option ID = 14314]
3. C

[Option ID = 14315]
4. D

[Option ID = 14316]
Correct Answer :-
® A

[Option ID = 14313]

5) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six different colleges
(A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table, answer the questions.



College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

(o 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

arferest 3 f3u 319 sficvst @ 3Mmen? uz Yool @ 3ar Sifie ©

forgstifeoa arfermt ©: fafioor Aaifdencril (A - F) 3 csol &l Fizean siiz faenfii i gferoraar - fazavr @ faasur gada oxdl 3 il asifdencril 3 fienom: oo
ferenf2Ril &bt sizar 12000 3

HBIfdEncrI - ar frenffi o1 faasur

beiRiencrr | RenfRkil &t gRrerdar (%)csst &t Hwar
A 12% 1000

B 9% 800

c 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

The number of girls in College-A is approximately what percentage of the total number of students in College-B?
JsIfcrencrI - A 3 arsfipel &t Fizen, sisifeenern - B 3 frenffn &t ager iz o1 ceneT fRbden gferord 3 ?

[Question ID = 3580][Question Description = S2_qSNz_PG_GP2_Q05]

1. 50

[Option ID = 14317]
2. 35

[Option ID = 14318]
3. 45

[Option ID = 14319]
4. 40

[Option ID = 14320]

Correct Answer :-
e 50
[Option ID = 14317]

Topic:- GP_20NOV_B_SH1

1) Which parenting style is the one in which parents seem cool and controlling their interactions with their children (low warmth, high
control):

forgaiferRaa 3 A as @iot M Uge (Acer) et 3 Rrwat Firar - Frar 3ruo sl & Arer ruofl sic:fpa ¥ sa - e 3R origm yddia 8 3 : (foor swishefl, sca
foriqur) :

[Question ID = 3581][Question Description = S2_qSNz_PG_GP2_Q06]

1. Authoritative parents/yiferpIf¥e® e - fiar [Option ID = 14321]

2. Authoritarian parents/snferpif¥a sner - far [Option ID = 14322]

3. Permissive parents/sigsiud atre - fuar [Option ID = 14323]
4. Rejecting/Neglecting/Uninvolved parents/srdiar @2l arel / 3Uel 2ot arct / idsifdd of dtol drel a1 - fiar [Option ID = 14324]

Correct Answer :-

® Authoritative parents/yiférmifas sirar - fem [Option ID = 14321]

2) Which of the following assessment methods provides feedback, that is non-evaluative, occurs before or during instruction, and guides
teachers in planning and improving instruction?

forgaiferRaa fepar gcaicvor ugh 3 Blsde ygrer b sirer 3, Sit 312 - PeAgivol wred Bl 3, 3ro1¢orel A gd A1 3AD Sivrel afed 3idl 3 3iiR srgrgoret sl Alston
Follol 3117 33 PR clol 3 reruedl o1 APTcoler ot 3 ¢

[Question ID = 3582][Question Description = S2_qSNz_PG_GP2_Q07]



1. Summative/=encam [Option ID = 14325]

2. Criterion-referenced/zicfifa @=iidt [Option ID = 14326]
3. Formative/fmifuncae [Option ID = 14327]

4. Norm referenced/zicfifa amoras [Option ID = 14328]

Correct Answer :-
e Summative/=hemcas [Option ID = 14325]

3) Given below are two statements
Statement I: Parents and teachers have a highly significant impact on the maturation aspect of cognitive development

Statement Il: Schemes are an organised system of actions or thought that allow us to mentally represent or "think about” the objects and
events in our world

In light of the above statements, choose the correct answer from the options given below

offax 31 et fw are 3 ¢
@l - | : Asieica® rpr1 & uftudadet usg U= aArr - firar iz forer! @1 Tgd & Ascayvl germra usdar &

@l - || : isTomy fgrmsii ar Rl ot He1ida wazeny siddl & Sil a4 sARI gforn df avdsil siik acensii oI ARIRIG U A gfefsféra w2l ar "Aldoel” & siopafea
gard

IWRITD Becil @ eI A, ofid f3u s1e fmcal # A A8} IR BT R bR :
[Question ID = 3583][Question Description = S2_qSNz_PG_GP2_Q08]

1. Both Statement | and Statement Il are true/emt | 3iiR |l Gloil 21 & [Option ID = 14329]

2. Both Statement | and Statement Il are false/@ermer | i 11 Sieif sRir & [Option ID = 14330]

3. Statement | is true but Statement Il is false/a@erer | 211 8, fboqg weret || sRicr & [Option ID = 14331]
4. Statement | is false but Statement Il is true/wmerr | srica 8, fpog @eret || A & [Option ID = 14332]

Correct Answer :-
e Both Statement | and Statement Il are true/werr | sii 1l Stif a1 & [Option ID = 14329]

4) Identify the types of cognitive load that make demands during learning
A. Intrinsic

B. Gestalt

C. Extraneous

D. Extinction

E. Germane

Choose the correct answer from the options given below:

I ASIGICHAD HR D YpRI bl Usdlol 3 Sl PR @ IFRI AdT 33 3 -

A. sicifys

B. sr<ice

C. qr@

D. faeia

E. Jera

il fu s1e freseul 3 A A8 IR BT wRIet HifSte :

[Question ID = 3584][Question Description = S2_qSNz_PG_GP2_Q09]

1. A, B and C only/daet A, B 3iiz C [Option ID = 14333]
2. B, Cand D only/aae B, C siiz D [Option ID = 14334]
3. A, Cand E only/a@act A, C siiz E [Option ID = 14335]
4. C, Dand E only/@aer C, D siiw E [Option ID = 14336]

Correct Answer :-
e A, Band Conly/daea A, B siiz C [Option ID = 14333]

5) Match List | with List Il

List | List 1l
Erik's stages of Psychosocial /Approximate
Development Age
IA. Basic trust versus Basic mistrust | Young
adulthood
Il. Late
B. Initiative versus Guilt
adulthood
C. Intimacy versus Isolation lll. 3 to 6 years

IV. Birth to 12-

D. Ego integrity versus Despair
go Integrity versu pal 18 months

Choose the correct answer from the options given below:



et -1 Bt 3yt -1l A AR Hifdre :

Rxeit -1 Rxeh -1l

(cf¥e @ ol bR o azon) (afostde 3Ry )

A, diiferes fRiear gona Hifera sifaeart |. gd eRrpar

B. usct Jolidt Q19 Il. src &t E=r@ar

C. 3ra3ardr Solld YapIchblaIuT Il. 331 6 ad

D. 3163 AcATOTSOT FolIa #1969 IV. sl @ 12 - 18 #dior

it fu o1 frpeul 9 21 1@ 3= gforo :

[Question ID = 3585][Question Description = S2_qSNz_PG_GP2_Q10]
1. A-lV,B-ll, C-,D-ll
[Option ID = 14337]
2. AU, B-L, C-ll,D-lV
[Option ID = 14338]
3. A-l,B-ll, C-lV, D -l

[Option ID = 14339]
4. A-lI,B-lvV,C-UL, D-l

[Option ID = 14340]

Correct Answer :-
e A-lV,B-l,C-,D-U
[Option ID = 14337]
6) When we design the experiment in such a way that the variations caused by extraneous factors can all be combined under the general
concept of "chance”, it represents which principle?

S 1 fepel udlerur (varafydic) o1 forIivr 531 YR e & b a1@1 PR®I SRI 3cusdl fAficoransil (Af¥uizi) ol eI (aiRl) &l ARG @emRvn & sidsia
RIS fopen s arpan &, dl a1 b Rigia @ forsuvt war 3 ?

[Question ID = 3586][Question Description = S2_qSNz_PG_GP2_Q11]

1. Principle of randomization/=mefesdblas2ur a1 Rrgia (FfRet siiw Issamsaiorer) [Option ID = 14341]

2. Principle of replication/ygerRigfer @1 RBrgia (fRmuet sifw wefidorer) [Option ID = 14342]

3. Principle of local control/zermwofter foriqur @t Brgia (ff¥met siiw cliaer asqier) [Option ID = 14343]

4. Principle of operational control/zifégicare foriqur a1 Brgia ([fuet sifw sifwdorer acler) [Option ID = 14344]

Correct Answer :-

e Principle of randomization/=refesbianur o1 RBigia (et sifw Issamsatorer) [Option ID = 14341]
7) Positivism as an epistemological program is characteristic of

SRR PRIGHA D U I gragmars fpadl fadwar 3 ?

[Question ID = 3587][Question Description = S2_qSNz_PG_GP2_Q12]
1. Social sciences/2mnfSi forsiror [Option ID = 14345]

2. Performing Arts/ygofat aeri [Option ID = 14346]

3. Natural sciences/ymafere fstior [Option ID = 14347]

4. Legal studies/fafére sreerier [Option ID = 14348]

Correct Answer :-
e Social sciences/mf fasmer [Option ID = 14345]

8) Identify the CORRECT sequence of empirical steps in the linear model of the research process

oner yfepzn @ IRaw yfeprrer 3 snopnfae wrvil o A8l siggas H usaret Hifse :

[Question ID = 3588][Question Description = S2_qSNz_PG_GP2_Q13]
1. Sampling — theory — interpretation — collection — validation — hypotheses/yférrier — Rigia — fordaet — spur — yeamfieur — yraweger [Option ID = 14349]
2. Theory — hypotheses — sampling — collection — interpretation — validation/Rigid — yramcust — yfercrior — 2dsgaur — fordder — yamfiassur [Option ID = 14350]
3. Validation — theory — hypotheses — collection — sampling — interpretation/ysmitmur — Rigia — yrameton — sfeur — yferrrel — fordaet [Option ID = 14351]
4. Collection — sampling — hypotheses — theory — interpretation — operationalization/3iseur — yfercrior — yraaeusn — Bigia — forddet — fdpncsdblasur (3mugmsicssiorer)
[Option ID = 14352]

Correct Answer :-
e Sampling — theory — interpretation — collection — validation — hypotheses/yferrier — Rigia — fordaer — 2dsgur — yaviiasur — yraaeuer [Option ID = 14349]

9) Which of the below mentioned approaches fall under the Quantitative Approach?
A. Simulation approach

B. Projective technique

C. Inferential approach

D. Depth interview

E. Experimental approach

Choose the correct answer from the options given below:



forgaiferRaa 3 31 ot A sfder AqIcHD AP & siasta 3 ?

A. 3rgf@vr JAfPT (AT Tyle)

B. yaXdl aweiic (Qifrca taoiia)

C. siopnfore ifErEmEI (sobctIRICT vyYe)

D. s1ea1 gIcPR

E. yrifere sifdemr

ofiY fou 1o faesedl 3 2 A8} 3R BT a6l Hifse

[Question ID = 3589][Question Description = S2_qSNz_PG_GP2_Q14]

. A, Cand E only/aacr A, C siiz E [Option ID = 14353]
. B, Cand E only/@>aer B, C siz E [Option ID = 14354]
. B, Cand D only/aae B, C iz D [Option ID = 14355]
. A, Band C only/daet A, B siiz C [Option ID = 14356]

A WN =

Correct Answer :-
e A, Cand E only/dae A, C iz E [Option ID = 14353]

10) Match List | with List Il

List | List 1l
IA. Ex post facto Research |I. Finding a solution for an immediate problem facing a society or an industrial/business organisation
B. Applied Research Il. Related to some abstract idea(s) or theory

C. Conceptual Research [lll. Development of hypotheses rather than their testing
D. Exploratory Research |[IV. No control over variables, reports only what has happened or what is happening
Choose the correct answer from the options given below:

It -1 @1 g -1l 2 gdifera difste ¢

et -1 et -1l

A. orifaz || fopft JeIrst srerar sienf3re / cIaARias JeIoel @ AAET

ofter Suf¥erd darcmIfera JIRT DI AT GGoll

zf.lel T5L Il. fop=fl argd far (faml) srerar Rigia 3 @«

C.

riyercas |1, udisror @ Fere U Yradeuoll @I faert

orier

D. saeadi IV, @RI ur @I foRIqET ofdl, dac 32T DI SIerort St 8 Sit 8 g
orrer @ srera 8t 381 8

oifar fu a1e faseul 3 A &l 3a= gfore :
[Question ID = 3590][Question Description = S2_qSNz_PG_GP2_Q15]

1. A-lV, B -, C -llL, D -l [Option ID = 14357]
2. A-Ill, B -II, C -1, D -IV [Option ID = 14358]
3. A-IV, B-l, C-Il, D -lll [Option ID = 14359]
4. A-1,B-Ill, C-Il, D -IV [Option ID = 14360]

Correct Answer :-
e A-lV,B-l, C-l, D-lL[Option ID = 14357]

11) Peer-to-peer communication is
D A AHADS BT AIYYUT 3 :

[Question ID = 3591][Question Description = S2_qSNz_PG_GP2_Q16]

1. Horizontal/ &fferst

[Option ID = 14361]
2. Convoluted/zafera

[Option ID = 14362]
3. Non-transactional /313 - Jicrdaii¥®

[Option ID = 14363]
4. Authoritarian/siftrrardt

[Option ID = 14364]

Correct Answer :-
e Horizontal/ &iftrst

[Option ID = 14361]

12) The main challenges of grapevine communication are:
A. Its formal nature

B. Distortion

C. Misunderstanding

D. Source anonymity

E. Conformity



Choose the correct answer from the options given below:

SIOTYAIG AFQEUT B Fzoer gotlferai & ?

A. sl siiuanf¥e gafa

B. farsuur

C. srcrawset

D. 4 sfeieica

E. smopeuar

ofl R a1e fymcul 3 A A IR @I TRt HIRIT :

[Question ID = 3592][Question Description = S2_qSNz_PG_GP2_Q17]

1. A, B and C only/adact A, B sfiz C [Option ID = 14365]
2. B, Cand D only/d@act B, C siiz D [Option ID = 14366]
3. C, DandE only/adaet C, D 3iiz E [Option ID = 14367]
4. A, Cand D only/@aa A, C siiz D [Option ID = 14368]

Correct Answer :-
® A, Band Conly/dac A, B siiz C [Option ID = 14365]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Students do not form part of the media audience
Reason R: Due to the all-pervasive digital technology, students have become interactive media users

In light of the above statements, choose the correct answer from the options given below

off<l 3 @erel fGu sw 3 @ uop sifdraperat (Assertion A) @ U 3 3R gRI 33d ®rRuT (Reason R) @ »u & :
aifSreperet (A) : Rremeff, 3fif3=m - offar @ s1eT o1dl &

@RI (R) : ad - cue B3fica Gienfihl & woraeu fenef soa: fagamofiar ififSen el ot s1e 3
SWRITP PGll B el 3, ofidl U el 3 A 7@ 3= @1 T=IeT HifdTe :

[Question ID = 3593][Question Description = S2_qSNz_PG_GP2_Q18]

1. Both A and R are true and R is the correct explanation of A/(A) iz (R) gl 31 83 (R), (A) &t 38t =m=n & [Option ID = 14369]

2. Both A and R are true but R is NOT the correct explanation of A/(A) siiz (R) e 3t & weog (R), (A) & 3t wmeen oidt 2 [Option ID = 14370]
3. Ais true but R is false/(A) e &, clfdpot (R) sricx & [Option ID = 14371]

4. Ais false but R is true/(A) srica 8, aifdor (R) 2= & [Option ID = 14372]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) iz (R) dleil 3 3l (R), (A) &t &t wmen & [Option ID = 14369]

14) ldentify the CORRECT sequence of the following communication forms:
A. Mass

B. Public

C. Group

D. Inter-personal

E. Intra-personal

Choose the correct answer from the options given below

forgstifepa FequuI - Fasul @ 8l ielad Dl Usara Hifsr :

A. Sta1 - s

B. Sterar

C. w3

D. sia= - Guftp®

E. soa: - Jaftpw

ol R s1e fyaeul 3 A A IR BT wRIor HIfSrT :

[Question ID = 3594][Question Description = S2_qSNz_PG_GP2_Q19]

1. E, B, C [Option ID = 14373]
2. , B, C, A [Option ID = 14374]
3. C, B, A [Option ID = 14375]
4. , A, D, E [Option ID = 14376]
Correct Answer :-

e A, D, E, B, C[Option ID = 14373]

15) Match List | with List Il

[List | IList 11




ITypes of noise in communication/Characteristic feature

IA. Physical I. Barriers within the sender or receiver
B. Physiological Il. Wandering thoughts

C. Psychological Ill. Use of jargon

D. Semantic IV. Mechanical distortion

Choose the correct answer from the options given below:

et -1 1 gt -1l A FARra Hide :

rxett -1 Rxeht -1

(131 3 9IR D YDR) (stfdrenigifres fadraard)

A. omdifyd |. QU A1 3fgurcbdl @ FHEA aRIeT
B. or¥lz fagricared 1. spgrorofier iR

C. sonfasufors 1. fafdrse - orecracht @1 yRisT

D. orecreffersiror IV. nfoqe fasuur

it fu o1 frpeul 3 21 1@ 3= gforo :
[Question ID = 3595][Question Description = S2_qSNz_PG_GP2_Q20]

1. A-IV, B I, C -II, D -Ill [Option ID = 14377]
2. A-1,B-Il, C-lll, D -IV [Option ID = 14378]
3. A-Ill, B-IV, C -1, D -1l [Option ID = 14379]
4. A-ll, B -lll, C -IV, D -I [Option ID = 14380]

Correct Answer :-
e A-IV,B-l, C-Il, D -lll [Option ID = 14377]

16) The incomes of Ravi and Kavita are in the ratio 2:3 and their expenditures are in the ratio 3:5. If each saves ¥ 100, then Ravi's income
is
e 3z ferar & 3mrr 2 @ 3 @ srgqura 3 3 3 JoId = @I 3igfurd 3 ¢ 5 3 PR Y@ ¥ 100 saa wad & dl A &b 3= 3 :

[Question ID = 3596][Question Description = S2_qSNz_PG_GP2_Q21]

1. 200

[Option ID = 14381]
2. 2600

[Option ID = 14382]
3. 3400

[Option ID = 14383]
4. 2100

[Option ID = 14384]
Correct Answer :-
e 3200

[Option ID = 14381]

17) The new cost of a mobile which has been discounted by 15% is ¥ 3230. What was the cost of the mobile originally?
15 gferera &t g @ Arer Alarser @I orRn Jea X 3230 3 sarsa o1 Yride e o= ar ?

[Question ID = 3597][Question Description = S2_qSNz_PG_GP2_Q22]

1. 3675

[Option ID = 14385]
2. %3650

[Option ID = 14386]
3. 3600

[Option ID = 14387]
4. 3800

[Option ID = 14388]
Correct Answer :-
® 33675

[Option ID = 14385]

18) The product of two positive consecutive odd integers is 1 less than six times their sum. One of the integers is
Sl Tollcdd BAPIA fATRI YuIics DT 3[uTeTbel, Joid AleIbel @ 6 - 3un A 1 @A el 4 A v yuria 3 :

[Question ID = 3598][Question Description = S2_qSNz_PG_GP2_Q23]

1.7

[Option ID = 14389]
2. 9

[Option ID = 14390]
3. 15

[Option ID = 14391]
4. 13

[Option ID = 14392]

Correct Answer :-
e 7



[Option ID = 14389]

19) Given below are two statements
Statement I: A number that has factors other than 1 and itself is called a composite number
Statement Il: 23 is the only odd prime number

In light of the above statements, choose the correct answer from the options given below

il &1 e feu a1w & ¢

Dol - | : v A%, RrIeT 1 3z sz Fai 8l saade 3l 3, U AP AR AT FYh AT Dl SIredl 3
@ - || : dact 23 & v faua w6 AR 3

IWRID PG D MclId A, ofid f3u s1v fmeal 3 A I8 IR BT R Hifse :

[Question ID = 3599][Question Description = S2_qSNz_PG_GP2_Q24]
1. Both Statement | and Statement Il are true/@emt | 3ii2 || il 311 &

[Option ID = 14393]
2. Both Statement | and Statement Il are false/@ermt | 3z || Sleil sRIeI &

[Option ID = 14394]
3. Statement | is true but Statement Il is false/aerot | e 2, ifdbor werat |1 aricer 3

[Option ID = 14395]
4. Statement | is false but Statement Il is true/ermer | sRII 8, cifdpat @weret || 31T 8

[Option ID = 14396]
Correct Answer :-
e Both Statement | and Statement Il are true/wmeme | 3z || Siell 3T &

[Option ID = 14393]

20) Match List | with List Il

List | List Il

Three numbers [Their average
IA. 40, 32,33 |. 38

B. 35, 36, 40 |Il. 36

C. 33, 36,39 |lll. 35

D. 30, 38, 46 |IV. 37

Choose the correct answer from the options given below:

el -1 @t 3t -1l A gfra B :

oxett -1 il

(cfiot Jiz=me) (Iotep1 3ilIa (=)
A. 40, 32, 33 l. 38

B. 35, 36, 40 1. 36

C. 33, 36, 39 1. 35

D. 30, 38, 46 V. 37

it fu s1e fepeul 3 2 1@l 3= gforo :

[Question ID = 3600][Question Description = S2_qSNz_PG_GP2_Q25]
1. A-IV,B-1,C-1l,D-1

[Option ID = 14397]
2. A-IL,B-1IV,C-1,D-1I

[Option ID = 14398]
3. A-lLB-IV,C-11,D-1

[Option ID = 14399]
4. A-IV,B-1l,C-lI,D-1

[Option ID = 14400]
Correct Answer :-
e A-IV,B-1,C-1l,D-1I
[Option ID = 14397]

21) Advertising "Testimonials" are frequent instances of this fallacy

'gATUT' 1 farsiaet @2l forssiferiRaa 3 2 b1 Sy @ JgaT Blol arcl IG162T 3 7

[Question ID = 3601][Question Description = S2_qSNz_PG_GP2_Q26]
1. Argumentum ad ignorantiam (ignorance)/3meffiocat us seoifocsm (3rsiroldr)

[Option ID = 14401]
2. Argumentum ad Misericordiam (appeal to pity)/smeedlocat vs PeiR@ISerer (Gar oI 3eyE)

[Option ID = 14402]
3. Argumentum ad Populum/sms¥giecs oS urgetst

[Option ID = 14403]
4. Argumentum ad Verecundiam (authority)/smeilocat us d¥dfoswar (YfimR)

[Option ID = 14404]



Correct Answer :-
® Argumentum ad ignorantiam (ignorance)/sisefdiocd Us $ocifocam (3ISIolAr)

[Option ID = 14401]

22) If 'some women are writers is true, which of the following codes are CORRECT
A. 'All women are writers' false

B. 'All women are writers' is true

C. '‘No women are writers' is false

D. 'Some women are not writers' is undetermined

Choose the correct answer from the options given below:

afe ' o Afdene aAlawme F wca 3, al foarfeRaa 3f A wlor A oe A8 & ?
A. "mil sifgem ARaw § sraca 3

. '©r¢ afden afawmr @l § sRIca 3

D. 'go afdens aRawme o8l 3 sifererifya 3

ofl o s1u faseul 3 3 Wl IR BT Rt HiIfSTU :

[Question ID = 3602][Question Description = S2_qSNz_PG_GP2_Q27]
1. Aand B only/dde A 3iiz B

N w

[Option ID = 14405]
2. B and C only/daet B iz C

[Option ID = 14406]
3. Cand D only/aqet C 3z D

[Option ID = 14407]
4. B and D only/dact B 3z D

[Option ID = 14408]
Correct Answer :-
® Aand B only/dact A siiz B

[Option ID = 14405]

23) Which of the following code correctly represents the figure and mood of the argument?
No musicians are Italians

All barbers are Musicians

Therefore, No barbers are Italians

Choose the correct answer from the options given below

forgaiferRad 3 A wlet AT ¢ AT D AIDR AT YDR DI A foreuvr war 37
@I Jeflapr secfl @ ol 3

sl orré Fellamr &

3IeT: DI olré sccil oI o18l 3

[Question ID = 3603][Question Description = S2_qSNz_PG_GP2_Q28]
1. EAE-1/$u$-1

[Option ID = 14409]
2. EAE-ll/§ug- 1l

[Option ID = 14410]
3. EAE-II/$us- 1l

[Option ID = 14411]
4. EAE-IV/§ud- IV

[Option ID = 14412]
Correct Answer :-
e EAE-I/3us-|
[Option ID = 14409]

24) If a jar is temporarily removed from its locus the non-existence of the jar on the floor is
afe fopeit sAcdarer (SIR) @1 e U 3ruol Feurel (cliba) A &l 3T S aY wof uz Jicdaret @t seif¥ara 3 :

[Question ID = 3604][Question Description = S2_qSNz_PG_GP2_Q29]
1. Upamana (Comparison)/3ustiel (defolr) (cpauf¥sior)

[Option ID = 14413]
2. Arthapatti (Implication)/srerfufer (ferfaaref) (seecfiaderor)

[Option ID = 14414]
3. Anumana (Inference)/sroprol (soW33)



[Option ID = 14415]
4. Anuplabdhi (Non-cognition)/stouctfder (ofot - @f3ototer)

[Option ID = 14416]

Correct Answer :-

e Upamana (Comparison)/3udter (qctolt) (apaf¥stor)
[Option ID = 14413]

25) The knowing self knows objects through the instrumentality of the Indriyas and the existence of the Indriya, is proved by
Sl SRI ad3il I sfogal @ ATeel SRI Slol STl & 3R sfogl @1 sifi¥ara yanfora s sirar 3

[Question ID = 3605][Question Description = S2_qSNz_PG_GP2_Q30]

1. Arthapatti/amerfufer grar

[Option ID = 14417]
2. Anuplabdhi/smeuefer grr

[Option ID = 14418]
3. Anumana/sigpirel gRI

[Option ID = 14419]
4. Upamana/3udiiel grRt

[Option ID = 14420]
Correct Answer :-
e Arthapatti/srerfufer grt

[Option ID = 14417]

26) Match List | with List Il

List | List Il
(Activity) (File Type)
IA. Recording a song to play on an iPod I. .zip

B. Saving a video Il. .mp3

C. Sending a photo to someone using your mobile|lll. .mp4
D. Compressing a folder of files |IV. .jpeg

Choose the correct answer from the options given below:

eft -1 Bt 3yt -1l A AR Hifre :

xett -1 Rxedt -1

(fee - emma) (w5t @& YoR)
A. v 3g dis WR 3fia geirel @ fére Rois wear l. .35 amé o
B. v dif3 2féra awon Il. .gar dt 3
C. 3ol Marsel BI YoT Bt g8 fipfl Bl Wi fiston Il. .oar ot 4
D. b GIEcT B BIcSI DI BIYA Bl IV, .51 ot 550t

it fu s1e frepeul 3 2 1@l 3a= gforo :

[Question ID = 3606][Question Description = S2_qSNz_PG_GP2_Q31]
1. A-1,B-1I,C-1,D-1IV

[Option ID = 14421]
2. A-IV,B-1Il,C-1I,D-1

[Option ID = 14422]
3. A-ULB-IL,C-1IV,D -1

[Option ID = 14423]
4. A-1,B-1l,C-1V,D-1

[Option ID = 14424]
Correct Answer :-
e A-I,B-lI,C-1,D-1IV
[Option ID = 14421]

27) Kavita uses a Wifi adapter to connect the computer to an interactive whiteboard.

Which one of these statements is false?

DAl TP drf - BIE TSt P G DI DI U fcllcaiaRnoficd ascdls A Siisd 3 @l & fordifcpa mereil 3 A Dlol 3RIT 8 ?
[Question ID = 3607][Question Description = S2_qSNz_PG_GP2_Q32]
1. Wifi has a greater range than Bluetooth/&rse &S @1 33 scf gl 3 Saret il &

[Option ID = 14425]
2. Wifi signals are capable of passing through solid objects/ar$ & @ Rcict 1 ugrelf & dfa 3 sft urR wot 3 et &

[Option ID = 14426]
3. Bluetooth has a greater range than Wifi/scigel @1 31 ar$ - wr$ 3 el 8l 8

[Option ID = 14427]
4. Bluetooth signals are capable of passing through solid objects/scy ger @ Rwoiet Sl usrelf @ diar 3 oft uR @ 9t el &

[Option ID = 14428]



Correct Answer :-
e Wifi has a greater range than Bluetooth/@rsc €I @1 351 e ¢@I 3 SwI6t 8l 8

[Option ID = 14425]

28) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The Internet is very beneficial to students in all aspects

Reason R: The Internet opens doorways to a wealth of information, knowledge and educational resources thereby increasing opportunities
for learning in and beyond the classroom

In light of the above statements, choose the correct answer from the options given below

offd 3 @erel fGu srw 3 @ uop sifdraperat (Assertion A) @ »u 3 3R gRI 33d ®rRuT (Reason R) @ »u & @

aifdrperet (A) @ $cole feneiiil o> forg it eftemivr A sga swrer amvert 3

@RI (R) : $czoie Faeial, el 3k eI - Farersil Bl ygar o1 gR Ipifed daar & BRI werr @ 3ic? a1 3R U 2P @ 9ol B AR YId akd &
SWRITP DIl D IMclid 3, oiidl U el 3 A 7@ 3= @1 Tw=IaT Hifdte :

[Question ID = 3608][Question Description = S2_qSNz_PG_GP2_Q33]
1. Both A and R are true and R is the correct explanation of A/(A) 3fiz (R) Geil 21 8 iR (R), (A) 6t &t wmreen 8

[Option ID = 14429]
2. Both A and R are true but R is NOT the correct explanation of A/(A) sik (R) leil 31 & weog (R), (A) P A wme=n ordt &

[Option ID = 14430]
3. Ais true but R is false/(A) 3 2, cifdor (R) 3Rt 3

[Option ID = 14431]
4. Ais false but R is true/(A) sric 3, afepar (R) 311 3

[Option ID = 14432]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) clail 31 3 3l (R), (A) 6l 31t cizen 8

[Option ID = 14429]

29) Identify the CORRECT order of the following data transfer rates measured in bits per second (bps) ranked from largest to smallest
A. 1500 kbps

B. 1500 Mbps

C. 1 Mbps

D. 1 Gbps

Choose the correct answer from the options given below

fRrcat gfer s (ot wer) 3 AN 3TC T - 3T - 5T D A A VR T aFr B v IR
A. 1500 & &t df v

B. 1500 ua &t di vt

C. 1 ua & di v

D. 1 sft &t ot g

ofl R a1v fymcul 3 A A& IR @I TRt HIfSIT :

[Question ID = 3609][Question Description = S2_qSNz_PG_GP2_Q34]
1. D, B, A, C

[Option ID = 14433]
2. B,D,C, A

[Option ID = 14434]
3. B,A, D, C

[Option ID = 14435]
4.B,D,AC

[Option ID = 14436]

Correct Answer :-
e D, B,AC

[Option ID = 14433]

30) Given below are two statements
Statement I: You can add attachments of any file size to an email.
Statement II: You can only send emails from a laptop computer.

In light of the above statements, choose the correct answer from the options given below

ofi 31 eret fu arg 3 ¢
et - | @ 3mu fpedl ot wrer ArssT DY FACT A AT D WU I SIS ADA &



ool - || @ 3ma dsact AU - U BIRIe: A & s Aot ADA T
IWRITD Bl D 3MIcAId A, oiid fou faaeal 3 A J8 3= B1 R=Iot HIdIE ©

[Question ID = 3610][Question Description = S2_qSNz_PG_GP2_Q35]
1. Both Statement | and Statement Il are true/emt | 3i2 || Sleil 311 &

[Option ID = 14437]
2. Both Statement | and Statement |l are false/@erer | 3iiz || Sleil 3R &

[Option ID = 14438]
3. Statement | is true but Statement Il is false/@erwr | 21 8, cifdbor et || 3RIcT 3

[Option ID = 14439]
4. Statement | is false but Statement Il is true/eror | 3RicI 8, Aifdbar aerot |1 e &

[Option ID = 14440]

Correct Answer :-
e Both Statement | and Statement Il are true/wmerer | 3z || Slell 3er &

[Option ID = 14437]

31) What are essential for the formation of photochemical smog?
A. Oxides of sulphur

B. Oxides of Nitrogen

C. Volatile Organic Compounds

D. Water Vapour

E. Sunlight

Choose the correct answer from the options given below:

Y19l - IRIRIFID &fd - PIed @ Tolol B 1w ot A magd 3 ?
A. JcB2 D sifaarss

B. cirsQYstel @ sifaRiss

C. sroufia ordfore iferm

D. Srerarsu

E. 35t - goorer

ofld R s1e fyaeul 3 A A& IR BT TRt HIfSIT :

[Question ID = 3611][Question Description = S2_qSNz_PG_GP2_Q36]
1. A, Band C only/@ac A, B aiiz C

[Option ID = 14441]
2. A, B, Cand D only/daer A, B, C afiz D

[Option ID = 14442]
3. B, C,DandE only/@ac B, C, D sik E

[Option ID = 14443]
4. B, Cand E only/a>act B, C aiiz E

[Option ID = 14444]

Correct Answer :-
® A, Band Conly/daa A, B siiz C

[Option ID = 14441]

32) What is the CORRECT sequence of occurrence of various atmospheric layers from earth's surface?
A. Thermosphere

B. Stratosphere

C. Mesosphere

D. Troposphere

Choose the correct answer from the options given below

gedl &I I1as A Sur fificor argEisci uzdal & suf¥erfer o 38t agr o= 3 ?
A. amuavse

B. eramevsa

C. HEIAUSTT

D. simarosc

ofl R a1e fyaeul 3 A A IR BT TRt HIfSIT :

[Question ID = 3612][Question Description = S2_qSNz_PG_GP2_Q37]
1. D, B, A, C

[Option ID = 14445]



2. D,B,C,A

[Option ID = 14446]
3. B,D,C A

[Op tlon ID = 14447]
4. C, B,

[Option ID = 14448]
Correct Answer :-
e D,B,AC

[Option ID = 14445]

33) Which one of the following climate change proxies is not the terrestrial biotic climatic proxy?
forgaiferlRaa 31 21 it Sicrary uf¥ade gferadt, ufffa Sia sterarg gferacft o1&t 3 ?

[Question ID = 3613][Question Description = S2_qSNz_PG_GP2_Q38]
1. Boreholes/fag - fisg (A2 - 8lca1)

[Option ID = 14449]
2. Leaf physiology/uq - @bt

[Option ID = 14450]
3. Tree ring/qet - acrax

[Option ID = 14451]
4. Pollen and spore analysis/u2merdur vd dismyy feasuur

[Option ID = 14452]

Correct Answer :-

® Boreholes/fiag - fésg (dR - alc?)
[Option ID = 14449]

34) A high amount of BOD (Biochemical Oxygen Demand) in a water body represents
A. Highly Polluted Water

B. Presence of a large amount of organic materials

C. Presence of good amount dissolved oxygen

D. Severely limited aquatic life

Choose the correct answer from the options given below:

e SIcn9rT & &t o $ (SRrRIRIforD - sifafister - Fiior) & siferes Frgr yofdfa ot 3 :
A. scaftre ggfta ster

B. wrdfors ucreif &1 st agr &t sufderfer

C. feifRra sifafister &t srceft amqn &bt suf¥erfer

D. srcaferes Hifdra sefiRn sfiaot

of R a1v fyaeul 3 A A& IR @I TRt HIfSIT :

[Question ID = 3614][Question Description = S2_qSNz_PG_GP2_Q39]
1. A, B, Cand D only/A, B, C sz D

[Option ID = 14453]
2. B, Cand D only/a@ac B, C sz D

[Option ID = 14454]
3. A, Cand D only/@aer A, C iz D

[Option ID = 14455]
4. A, Band D only/ddct A, B aliz D

[Option ID = 14456]
Correct Answer :-
e A, B, CandDonly/A, B, C3ir D

[Option ID = 14453]

35) Which one of the following is a component of a Sewage Treatment Plant (STP)?
forrotferRac 3 A ®lel U JcTsIcl - foreuvr - Riq (v & Ul) @1 vw aew 3 ?

[Question ID = 3615][Question Description = S2_qSNz_PG_GP2_Q40]

1. UV source/z, dt. 3a

[Option ID = 14457]
2. lon exchanger/3irrel BaRIIsR

[Option ID = 14458]
3. Grit chamber/arg®ur - yors

[Option ID = 14459]
4. Cyclone/msaciiot

[Option ID = 14460]

Correct Answer :-



® UV source/?, dt. 3
[Option ID = 14457]

36) According to the NEP- 2020, a Master's Programme may be of:
A. one-year duration

B. two-year duration

C. three-year duration

D. four-year duration

E. five-year duration

Choose the correct answer from the options given below:

Tol. 3. Ul. - 2020 @ 3R, IGIADIR UIGIDH 8l ADI 3 :
A. v ad &I smafer a1

B. < ad bt srafer o1

C. dier adf &1 srafer @1

D. ar ad &t smafer o1

E. ufa ad &1 sm@fer a1

ofl R a1e fymcul 3 A A& IR B TRIor BT :

[Question ID = 3616][Question Description = S2_qSNz_PG_GP2_Q41]
1. A, B and E only/d@act A, B sik E

[Option ID = 14461]
2. A, Band C only/dac A, B siiz C

[Option ID = 14462]
3. B, Cand E only/@ac B, C sik E

[Option ID = 14463]
4. B and D only/dqct B aiiz D

[Option ID = 14464]

Correct Answer :-
® A, BandE only/dac A, B aiiz E

[Option ID = 14461]

37) According to NEP-2020, the Higher Education Commission of India (HECI) will be set up:

A. to replace the UGC for maintaining quality and standard in higher education institutions

B. as an umbrella institution to look into regulation accreditation, funding and academic standard
C. as a regulatory authority to maintain quality and standard

D. to maintain academic standard of higher education institutions

Choose the correct answer from the options given below:

©ol. 3. Ul. 2020 @ 31GRAR, HIRA T Icd 1811 3IRIIPT Fenfir e sieam

A. giA. @1 3ca dgifdres Fivensil I uIad T ¥R Jolie 3@l @ fére gferremuet
B. faformercl, yeariel, forf2rret iz gt Taz &l Sxasiret 3 Sqw I D 34 A
C. v faformeres a1 @ wU 3 VI Ud TR Tolle 36! & fere

D. 3ca dieifdre Azermail @ deifdres Fazw o1 gole 6! D fore

ofl 3w a1e fyacul 3 A A IR @I TRt HIfdIT :

[Question ID = 3617][Question Description = S2_qSNz_PG_GP2_Q42]
1. Aand B only/dqc A siiz B

[Option ID = 14465]
2. B, Cand D only/adac B, C sz D

[Option ID = 14466]
3. A, Cand D only/@acr A, C siz D

[Option ID = 14467]
4. A, B, CandD/A, B, Caz D

[Option ID = 14468]
Correct Answer :-
® A and B only/ddct A iz B
[Option ID = 14465]

38) Match List | with List Il

List | List Il
Regulatory institutions as per NEP-2020  |Responsibilities




IA. NHERC |. Academic standards|
B. NAC Il. Accreditation

C. HEGC Ill. Regulation

D. GEC IV. Financing

Choose the correct answer from the options given below:

et -1 Bt 3yt -1l A AR Hifdre :

et -1 et -1l

(ot. 5. Ul. @ srepaR faformca® Fremrl) (c1Rra)

IA. goruas 3R |. oleiforep - ¥R
B. wor.udl Il. yearIer

C. vassitai lll. faformerct

D. shts.2ft IV. foiferrer

offar fu s1e frepeul 3 2 1@l 3a= gforo :

[Question ID = 3618][Question Description = S2_qSNz_PG_GP2_Q43]
1. A-llL,B-1,C-1,D-1IV

[Option ID = 14469]
2. A-ILB-NI,C-1IV,D- |

[Option ID = 14470]
3. A-ULB-IL,C-1IV,D -1

[Option ID = 14471]
4. A-IV,B-1I,C-1l,D-1

[Option ID = 14472]
Correct Answer :-
e A-Ill,B-1I,C-1,D-1IV
[Option ID = 14469]

39) According to NEP-2020, National Research Foundation (NRF) may be established to
ol Ul 2020 o AR, AR 31oIIceIol YfeIeoTol (Tol.3IR.U.) Ferftd g s 3reper 3 :

[Question ID = 3619][Question Description = S2_qSNz_PG_GP2_Q44]
1. Promote doctoral/post-doctoral research/siacc ik Ulee Siacdc olier d Qs 3

[Option ID = 14473]
2. Promote fundamental scientific research/smero dsmfore ofter @I Qiefda ol

[Option ID = 14474]
3. Enable universities to establish research laboratories/feafencrii @t oiter - yrieronensii Gt Femdor @ s dolrol at

[Option ID = 14475]
4. Enable a culture of research to permeate through universities/fd=afdemcril 3 oller AxDpier B " Blol D e 358 A8 Tolloll

[Option ID = 14476]
Correct Answer :-
e Promote doctoral/post-doctoral research/siae¥e 3l Ule sideic oler d QieAIsal &g

[Option ID = 14473]

40) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Higher education in India has limited access particularly in socio-economically disadvantaged areas

Reason R: The research and innovation investment in India is only 0.69% of GDP

In light of the above statements, choose the most appropriate answer from the options given below

il < erel fou sre 3 : uep sifdrperet (Assertion A) @ wu & siiz g 3@ ®RuT (Reason R) @ wu 3 :
aifraserst (A) : sira 3 3ca - Rign B Mia uga 3 Rduws Al - anffes dRia gl a

®rul (R) : s1Ra 3 onter 3R slarar ferdor rma @3q 3curc (S.3l.dl.) o1 daer 0.69% 3

IR BYall B el 3, ofl fu facul 3 A A IR @1 w1 HIfdre :

[Question ID = 3620][Question Description = S2_qSNz_PG_GP2_Q45]
1. Both A and R are correct and R is the correct explanation of A/(A) siiz (R) cleil 2@t 8 3ii (R), (A) & @ =me=n &

[Option ID = 14477]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) @il 3& & wog (R), (A) &t 3t wmen ot &

[Option ID = 14478]
3. Ais correct but R is not correct/(A) @ & wog (R) @ oref 3

[Option ID = 14479]
4. A‘is not correct but R is correct/(A) 2l oiéf 2 wog (R) &t 2

[Option ID = 14480]

Correct Answer :-

e Both A and R are correct and R is the correct explanation of A/(A) sz (R) @il & & 3z (R), (A) &6t A& cmen 2
[Option ID = 14477]

Topic:- GP_20NOV_C_SH1



1

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between women in terms of
class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of feminism was called into question. The
inadequacies of feminist theorising that conflated the condition of white, middle class women with the condition of all women were
highlighted in North America by black and Latin feminists, and in Britain by black and Asian feminists. Such critiques evoked the concepts of
‘inter-locking identities' and inter-locking oppressions'. Related and more radical analyses came from feminist scholars in the Third world,
where quite different agendas were called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to
the lives of most women around the world and attempted to reposition feminist debate within broader social, economic and cultural

contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the self-assumed
authority of western feminists to speak about or indeed for others was disputed and decentered. Influential accounts of the tendencies of
masculinist imperialist ideological formation to construct a ‘'monolithic Third world' woman', discursively constituted as the universal victim of
Third world patriarchy, challenged feminists to "unlearn” their privilege and to deconstruct their own authority as intellectuals. These
positions appeared to question the legitimacy of outside intervention of any kind, whether intellectual or political. Although subsequently
attempted by the Third world scholars anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic
or unnecessary, they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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The early feminist theory ignored among women, the issue of

gRitie oidlac @ Rigia 3 aifdcmsil & forafelRaa 3 A v #2 Pl oleRe™ @2 = sri ?

[Question ID = 3621][Question Description = S2_qSNz_PG_GP2_Q46]
1. Enduring commonalities/ 3 mteeran
[Option ID = 14481]
2. Significant differences/asrayuf fareorart
[Option ID = 14482]
3. Inclusive factors/@mslt dR®

[Option ID = 14483]
4. Oppressive elements/caoidt dea

[Option ID = 14484]

Correct Answer :-
e Enduring commonalities/3¥d e

[Option ID = 14481]

2)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between women in terms of
class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of feminism was called into question. The
inadequacies of feminist theorising that conflated the condition of white, middle class women with the condition of all women were
highlighted in North America by black and Latin feminists, and in Britain by black and Asian feminists. Such critiques evoked the concepts of
‘inter-locking identities' and inter-locking oppressions’. Related and more radical analyses came from feminist scholars in the Third world,
where quite different agendas were called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to
the lives of most women around the world and attempted to reposition feminist debate within broader social, economic and cultural

contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the self-assumed
authority of western feminists to speak about or indeed for others was disputed and decentered. Influential accounts of the tendencies of
masculinist imperialist ideological formation to construct a 'monolithic Third world' woman', discursively constituted as the universal victim of
Third world patriarchy, challenged feminists to "unlearn” their privilege and to deconstruct their own authority as intellectuals. These
positions appeared to question the legitimacy of outside intervention of any kind, whether intellectual or political. Although subsequently
attempted by the Third world scholars anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic



or unnecessary, they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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Initially, the feminist theory veered around the problems of

3Ry 3 oiflardl Rigia fweifeiRaa 3 A fpar wer=n & ¢ BIS ggr a1 e ?

[Question ID = 3622][Question Description = S2_qSNz_PG_GP2_Q47]
1. Feminists around the world/frea sz @ airdtardt
[Option ID = 14485]
2. North-American middle class white women /33t sm@ifsdr @ et gof 6t A afdems
[Option ID = 14486]
3. Blacks and Latinos/amde siiz crefioft aifdemt

[Option ID = 14487]
4. l|dentified women groups in different places/f3ieor - fdrcor Fermoll w2 Rifee aifden s

[Option ID = 14488]

Correct Answer :-
e Feminists around the world/fe«a o= & aRlact
[Option ID = 14485]

3)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between women in terms of
class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of feminism was called into question. The
inadequacies of feminist theorising that conflated the condition of white, middle class women with the condition of all women were
highlighted in North America by black and Latin feminists, and in Britain by black and Asian feminists. Such critiques evoked the concepts of
‘inter-locking identities' and inter-locking oppressions’. Related and more radical analyses came from feminist scholars in the Third world,
where quite different agendas were called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to
the lives of most women around the world and attempted to reposition feminist debate within broader social, economic and cultural

contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the self-assumed
authority of western feminists to speak about or indeed for others was disputed and decentered. Influential accounts of the tendencies of
masculinist imperialist ideological formation to construct a ‘'monolithic Third world' woman', discursively constituted as the universal victim of
Third world patriarchy, challenged feminists to "unlearn” their privilege and to deconstruct their own authority as intellectuals. These
positions appeared to question the legitimacy of outside intervention of any kind, whether intellectual or political. Although subsequently
attempted by the Third world scholars anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic
or unnecessary, they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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The analytical frameworks of western feminists were critiqued by Third world scholars as:

Ui oistanfeRl & frduvincae widl & wefien dirsl gforn @ figell orI v u 3 & o ?

[Question ID = 3623][Question Description = S2_qSNz_PG_GP2_Q48]
1. they had different societal agendas/féeor - fSicor et Jdeft i
[Option ID = 14489]
2. radical and irrelevant/aiferarct siiz siyRifsI® %u 3
[Option ID = 14490]
3. they had to be repositioned in different contexts/fafdroor Jicait 3 Yor:2emuor ot @ fere

[Option ID = 14491]
4. they had to fit in a discursive discourse/fd@efter ydaor @ AT

[Option ID = 14492]

Correct Answer :-
e they had different societal agendas/fdot - froor st Addeft DrRiqT
[Option ID = 14489]

4)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between women in terms of
class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of feminism was called into question. The
inadequacies of feminist theorising that conflated the condition of white, middle class women with the condition of all women were
highlighted in North America by black and Latin feminists, and in Britain by black and Asian feminists. Such critiques evoked the concepts of
‘inter-locking identities' and inter-locking oppressions'. Related and more radical analyses came from feminist scholars in the Third world,
where quite different agendas were called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to
the lives of most women around the world and attempted to reposition feminist debate within broader social, economic and cultural

contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the self-assumed
authority of western feminists to speak about or indeed for others was disputed and decentered. Influential accounts of the tendencies of
masculinist imperialist ideological formation to construct a ‘'monolithic Third world' woman', discursively constituted as the universal victim of
Third world patriarchy, challenged feminists to "unlearn” their privilege and to deconstruct their own authority as intellectuals. These
positions appeared to question the legitimacy of outside intervention of any kind, whether intellectual or political. Although subsequently
attempted by the Third world scholars anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic
or unnecessary, they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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Post-colonial, western feminists were asked to

Jaz? - Nuferafdre urtirer oisiaifeat 3 o= sl arr ?

[Question ID = 3624][Question Description = S2_qSNz_PG_GP2_Q49]
1. Free themselves from masculinist ideologies/gzuarct Rigidl 3 ¥a=i &I Feb B0l D forg

[Option ID = 14493]
2. Disengage themselves from the idea of 'Third world woman'./¥a=i @I it gforn ot aifdenail 3 T w2l @ fere

[Option ID = 14494]
3. Challenge the Third world patriarchy/t gforn 6t RigRIarsaar ot goildt Jot @ fere

[Option ID = 14495]
4. Deconstruct their status as intellectuals/gfgsiidt @& u i smuoft Rerfer o1 2ems w2l & fore

[Option ID = 14496]



Correct Answer :-
® Free themselves from masculinist ideologies/gauardt Rigidl 3 ¥a=t @t D D20l D e
[Option ID = 14493]

5)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between women in terms of
class, age, religion, race and nation. As its exclusionary nature became evident, the collective ‘we' of feminism was called into question. The
inadequacies of feminist theorising that conflated the condition of white, middle class women with the condition of all women were
highlighted in North America by black and Latin feminists, and in Britain by black and Asian feminists. Such critiques evoked the concepts of
‘inter-locking identities' and inter-locking oppressions’. Related and more radical analyses came from feminist scholars in the Third world,
where quite different agendas were called for. These critiques heightened the irrelevance of western feminism's analytical frameworks to
the lives of most women around the world and attempted to reposition feminist debate within broader social, economic and cultural

contexts of analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the self-assumed
authority of western feminists to speak about or indeed for others was disputed and decentered. Influential accounts of the tendencies of
masculinist imperialist ideological formation to construct a ‘'monolithic Third world' woman’, discursively constituted as the universal victim of
Third world patriarchy, challenged feminists to “unlearn” their privilege and to deconstruct their own authority as intellectuals. These
positions appeared to question the legitimacy of outside intervention of any kind, whether intellectual or political. Although subsequently
attempted by the Third world scholars anxious to move beyond standpoints that threatened to mark all feminist politics as either inauthentic
or unnecessary, they were enduringly influential in highlighting the questions identity and authority in feminist studies.
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The passage speaks of
8 SreEn9l foprY Jdftra 3 ?

[Question ID = 3625][Question Description = S2_qSNz_PG_GP2_Q50]
1. ldentity issues in feminist studies/sISlarc srerIeil 9 usarer idedt 75

[Option ID = 14497]
2. Authority of western feminist scholars/mgirer smstarct figreil @1 yifirsr

[Option ID = 14498]
3. Experience of Third world feminists/drd gforn @ emtaife=il @ srepera

[Option ID = 14499]
4. ldeological constructs all over the world/ gl gforn 3 daifye forffferr

[Option ID = 14500]

Correct Answer :-
® |dentity issues in feminist studies/em3tarch srezroll 3 usaret el 35

[Option ID = 14497]
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[Question ID = 6048][Question Description = Q1_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23382]
2. 2 [Option ID = 23383]
3. 3 [Option ID = 23384]
4. 4 [Option ID = 23385]
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Correct Answer :-
e 1 [Option ID = 23382]
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[Question ID = 6049][Question Description = Q2_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23386]
2. 2 [Option ID = 23387]
3. 3 [Option ID = 23388]
4. 4 [Option ID = 23389]

Correct Answer :-

e 1 [Option ID = 23386]
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[Question ID = 6050][Question Description = Q3_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23390]
2. 2 [Option ID = 23391]
3. 3 [Option ID = 23392]
4. 4 [Option ID = 23393]

Correct Answer :-
e 1 [Option ID = 23390]
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[Question ID = 6051][Question Description = Q4_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23394]
2. 2 [Option ID = 23395]
3. 3 [Option ID = 23396]
4. 4 [Option ID = 23397]

Correct Answer :-
e 1 [Option ID = 23394]

re M () A 8 Al g
Joodllae (G jee Addall
szl 134 e o pudl) 5
Osalall 2eidal) 3
Ol s e (o Slallae 2alall 4

[Question ID = 6052][Question Description = Q5_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23398]
2. 2 [Option ID = 23399]
3. 3 [Option ID = 23400]
4. 4 [Option ID = 23401]

Correct Answer :-
e 1 [Option ID = 23398]
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[Question ID = 6053][Question Description = Q6_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23402]
2. 2 [Option ID = 23403]
3. 3 [Option ID = 23404]
4. 4 [Option ID = 23405]

Correct Answer :-
e 1 [Option ID = 23402]

‘é“)a.nn el il »

v T



(o A |

Al 4

[Question ID = 6054][Question Description = Q7_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23406]
2. 2 [Option ID = 23407]
3. 3 [Option ID = 23408]
4. 4 [Option ID = 23409]

Correct Answer :-
e 1 [Option ID = 23406]
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[Question ID = 6055][Question Description = Q8_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23410]
2. 2 [Option ID = 23411]
3. 3 [Option ID = 23412]
4. 4 [Option ID = 23413]

Correct Answer :-
e 1 [Option ID = 23410]
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[Question ID = 6056][Question Description = Q9_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23414]
2. 2 [Option ID = 23415]

3. 3 [Option ID = 23416]
4. 4 [Option ID = 23417]

Correct Answer :-
e 1 [Option ID = 23414]
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[Question ID = 6057][Question Description = Q10_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23418]
2. 2 [Option ID = 23419]
3. 3 [Option ID = 23420]
4. 4 [Option ID = 23421]

Correct Answer :-
e 1 [Option ID = 23418]
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[Question ID = 6058][Question Description = Q11_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23422]
2. 2 [Option ID = 23423]
3. 3 [Option ID = 23424]
4. 4 [Option ID = 23425]

Correct Answer :-
e 1 [Option ID = 23422]
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[Question ID = 6059][Question Description = Q12_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23426]
2. 2 [Option ID = 23427]
3. 3 [Option ID = 23428]
4. 4 [Option ID = 23429]

Correct Answer :-
e 1 [Option ID = 23426]
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[Question ID = 6060][Question Description = Q13_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23430]
2. 2 [Option ID = 23431]
3. 3 [Option ID = 23432]
4. 4 [Option ID = 23433]

Correct Answer :-
e 1 [Option ID = 23430]
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[Question ID = 6061][Question Description = Q14_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23434]
2. 2 [Option ID = 23435]
3. 3 [Option ID = 23436]
4. 4 [Option ID = 23437]

Correct Answer :-
e 1 [Option ID = 23434]
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[Question ID = 6062][Question Description = Q15_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23438]
2. 2 [Option ID = 23439]
3. 3 [Option ID = 23440]
4. 4 [Option ID = 23441]

Correct Answer :-
e 1 [Option ID = 23438]
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[Question ID = 6063][Question Description = Q16_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23442]
2. 2 [Option ID = 23443]
3. 3 [Option ID = 23444]
4. 4 [Option ID = 23445]

Correct Answer :-
e 1 [Option ID = 23442]
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[Question ID = 6064][Question Description = Q17_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23446]
2. 2 [Option ID = 23447]
3. 3 [Option ID = 23448]
4. 4 [Option ID = 23449]

Correct Answer :-
e 1 [Option ID = 23446]
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[Question ID = 6065][Question Description = Q18_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23450]
2. 2 [Option ID = 23451]
3. 3 [Option ID = 23452]
4. 4 [Option ID = 23453]

Correct Answer :-
e 1 [Option ID = 23450]

o) Gl e ld E e (e ey e Cuil€ audail) 5 e L)
85 yma 1y Aiaen |

Sl i 3aY g 2



[Question ID = 6066][Question Description = Q19_S2_qSNz_PG_ARA_A]

1. 1 [Option ID = 23454]
2. 2 [Option ID = 23455]
3. 3 [Option ID = 23456]
4. 4 [Option ID = 23457]

Correct Answer :-
e 1 [Option ID = 23454]
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[Question ID = 6067][Question Description = Q20_S2_qSNz_PG_ARA_A]

1. 1 [Option ID = 23458]
2. 2 [Option ID = 23459]
3. 3 [Option ID = 23460]
4. 4 [Option ID = 23461]

Correct Answer :-
e 1 [Option ID = 23458]
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[Question ID = 6068][Question Description = Q21_S2_qSNz_PG_ARA_A]

1. 1 [Option ID = 23462]
2. 2 [Option ID = 23463]
3. 3 [Option ID = 23464]
4. 4 [Option ID = 23465]

Correct Answer :-
e 1 [Option ID = 23462]
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[Question ID = 6069][Question Description = Q22_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23466]
2. 2 [Option ID = 23467]
3. 3 [Option ID = 23468]
4. 4 [Option ID = 23469]

Correct Answer :-
e 1 [Option ID = 23466]
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[Question ID = 6070][Question Description = Q23_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23470]
2. 2 [Option ID = 23471]
3. 3 [Option ID = 23472]
4. 4 [Option ID = 23473]

Correct Answer :-
e 1 [Option ID = 23470]
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[Question ID = 6071][Question Description = Q24_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23474]
2. 2 [Option ID = 23475]
3. 3 [Option ID = 23476]
4. 4 [Option ID = 23477]

Correct Answer :-
e 1 [Option ID = 23474]
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[Question ID = 6072][Question Description = Q25_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23478]
2. 2 [Option ID = 23479]
3. 3 [Option ID = 23480]
4. 4 [Option ID = 23481]

Correct Answer :-

e 1 [Option ID = 23478]
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[Question ID = 6073][Question Description = Q26_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23482]
2. 2 [Option ID = 23483]
3. 3 [Option ID = 23484]
4. 4 [Option ID = 23485]

Correct Answer :-
e 1 [Option ID = 23482]
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[Question ID = 6074][Question Description = Q27_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23486]
2. 2 [Option ID = 23487]
3. 3 [Option ID = 23488]
4. 4 [Option ID = 23489]

Correct Answer :-
e 1 [Option ID = 23486]
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[Question ID = 6075][Question Description = Q28_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23490]
2. 2 [Option ID = 23491]
3. 3 [Option ID = 23492]
4. 4 [Option ID = 23493]

Correct Answer :-
e 1 [Option ID = 23490]

[Question ID = 6076][Question Description = Q29_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23494]
2. 2 [Option ID = 23495]
3. 3 [Option ID = 23496]
4. 4[Option ID = 23497]

Correct Answer :-
e 1 [Option ID = 23494]
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[Question ID = 6077][Question Description = Q30_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23498]
2. 2 [Option ID = 23499]
3. 3 [Option ID = 23500]
4. 4 [Option ID = 23501]

Correct Answer :-
e 1 [Option ID = 23498]

sl ale Gialie (e gl



el
Jacdll 5
E
Skl 4

[Question ID = 6078][Question Description = Q31_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23502]
2. 2 [Option ID = 23503]
3. 3 [Option ID = 23504]
4. 4 [Option ID = 23505]

Correct Answer :-
e 1 [Option ID = 23502]
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[Question ID = 6079][Question Description = Q32_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23506]
2. 2 [Option ID = 23507]
3. 3 [Option ID = 23508]
4. 4 [Option ID = 23509]

Correct Answer :-
e 1 [Option ID = 23506]
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[Question ID = 6080][Question Description = Q33_S2_qSNz_PG_ARA_A]



1. 1 [Option ID = 23510]
2. 2 [Option ID = 23511]
3. 3 [Option ID = 23512]
4. 4 [Option ID = 23513]

Correct Answer :-
e 1 [Option ID = 23510]
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[Question ID = 6081][Question Description = Q34_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23514]
2. 2 [Option ID = 23515]
3. 3 [Option ID = 23516]
4. 4 [Option ID = 23517]

Correct Answer :-
e 1 [Option ID = 23514]
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[Question ID = 6082][Question Description = Q35_5S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23518]
2. 2 [Option ID = 23519]
3. 3 [Option ID = 23520]
4. 4 [Option ID = 23521]

Correct Answer :-
e 1 [Option ID = 23518]
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[Question ID = 6083][Question Description = Q36_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23522]

2. 2 [Option ID = 23523]

3. 3 [Option ID = 23524]

4. 4 [Option ID = 23525]

Correct Answer :-

e 1 [Option ID = 23522]
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[Question ID = 6084][Question Description = Q37_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23526]
2. 2 [Option ID = 23527]
3. 3 [Option ID = 23528]
4. 4 [Option ID = 23529]

Correct Answer :-
e 1 [Option ID = 23526]

idashll 005 e ol Al ) (e
Mala Cuilla 25V S sadin
62335 o e JLadL Sl
faalia 8 1 a0 s 5

Y i 335 A gl
i a3 W (e (8 HAY 3

st o padll iy e
S (a5 o5l ple alei 4

oo 2 e ple e (A

[Question ID = 6085][Question Description = Q38_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23530]
2. 2 [Option ID = 23531]
3. 3 [Option ID = 23532]
4. 4 [Option ID = 23533]

Correct Answer :-
e 1 [Option ID = 23530]
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[Question ID = 6086][Question Description = Q39_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23534]
2. 2 [Option ID = 23535]
3. 3 [Option ID = 23536]
4. 4 [Option ID = 23537]

Correct Answer :-
e 1 [Option ID = 23534]
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[Question ID = 6087][Question Description = Q40_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23538]
2. 2 [Option ID = 23539]
3. 3 [Option ID = 23540]
4. 4 [Option ID = 23541]

Correct Answer :-
e 1 [Option ID = 23538]
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[Question ID = 6088][Question Description = Q41_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23542]
2. 2 [Option ID = 23543]
3. 3 [Option ID = 23544]
4. 4 [Option ID = 23545]

Correct Answer :-
e 1 [Option ID = 23542]
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[Question ID = 6089][Question Description = Q42_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23546]
2. 2 [Option ID = 23547]
3. 3 [Option ID = 23548]
4. 4 [Option ID = 23549]

Correct Answer :-
e 1 [Option ID = 23546]
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[Question ID = 6090][Question Description = Q43_S2_qSNz_PG_ARA_A]



1. 1 [Option ID = 23550]
2. 2 [Option ID = 23551]
3. 3 [Option ID = 23552]
4. 4 [Option ID = 23553]

Correct Answer :-
e 1 [Option ID = 23550]
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[Question ID = 6091][Question Description = Q44_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23554]
2. 2 [Option ID = 23555]
3. 3 [Option ID = 23556]
4. 4[Option ID = 23557]

Correct Answer :-
e 1 [Option ID = 23554]
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[Question ID = 6092][Question Description = Q45_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23558]



2. 2 [Option ID = 23559]
3. 3 [Option ID = 23560]
4. 4 [Option ID = 23561]

Correct Answer :-
e 1 [Option ID = 23558]
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[Question ID = 6093][Question Description = Q46_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23562]
2. 2 [Option ID = 23563]
3. 3 [Option ID = 23564]
4. 4 [Option ID = 23565]

Correct Answer :-
e 1 [Option ID = 23562]
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[Question ID = 6094][Question Description = Q47_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23566]
2. 2 [Option ID = 23567]
3. 3 [Option ID = 23568]
4. 4 [Option ID = 23569]

Correct Answer :-
e 1 [Option ID = 23566]
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[Question ID = 6095][Question Description = Q48_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23570]
2. 2 [Option ID = 23571]
3. 3 [Option ID = 23572]
4. 4 [Option ID = 23573]

Correct Answer :-
e 1 [Option ID = 23570]
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[Question ID = 6096][Question Description = Q49_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23574]
2. 2 [Option ID = 23575]
3. 3 [Option ID = 23576]
4. 4 [Option ID = 23577]

Correct Answer :-

e 1 [Option ID = 23574]
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[Question ID = 6097][Question Description = Q50_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23578]
2. 2 [Option ID = 23579]
3. 3 [Option ID = 23580]
4. 4 [Option ID = 23581]

Correct Answer :-

e 1 [Option ID = 23578]
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[Question ID = 6098][Question Description = Q51_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23582]
2. 2 [Option ID = 23583]
3. 3 [Option ID = 23584]
4. 4 [Option ID = 23585]

Correct Answer :-
e 1 [Option ID = 23582]
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[Question ID = 6099][Question Description = Q52_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23586]
2. 2 [Option ID = 23587]
3. 3 [Option ID = 23588]
4. 4 [Option ID = 23589]

Correct Answer :-
e 1 [Option ID = 23586]
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[Question ID = 6100][Question Description = Q53_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23590]
2. 2 [Option ID = 23591]
3. 3 [Option ID = 23592]
4. 4 [Option ID = 23593]

Correct Answer :-
e 1 [Option ID = 23590]
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[Question ID = 6101][Question Description = Q54_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23594]
2. 2 [Option ID = 23595]
3. 3 [Option ID = 23596]
4. 4[Option ID = 23597]

Correct Answer :-
e 1 [Option ID = 23594]
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[Question ID = 6102][Question Description = Q55_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23598]
2. 2 [Option ID = 23599]
3. 3 [Option ID = 23600]
4. 4 [Option ID = 23601]

Correct Answer :-
e 1 [Option ID = 23598]
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[Question ID = 6103][Question Description = Q56_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23602]
2. 2 [Option ID = 23603]
3. 3 [Option ID = 23604]
4. 4 [Option ID = 23605]

Correct Answer :-
e 1 [Option ID = 23602]
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[Question ID = 6104][Question Description = Q57_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23606]
2. 2 [Option ID = 23607]
3. 3 [Option ID = 23608]
4. 4 [Option ID = 23609]

Correct Answer :-
e 1 [Option ID = 23606]
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[Question ID = 6105][Question Description = Q58_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23610]

2. 2 [Option ID = 23611]

3. 3 [Option ID = 23612]

4. 4 [Option ID = 23613]

Correct Answer :-

e 1 [Option ID = 23610]
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[Question ID = 6106][Question Description = Q59_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23614]

2. 2 [Option ID = 23615]

3. 3 [Option ID = 23616]

4. 4 [Option ID = 23617]

Correct Answer :-

e 1 [Option ID = 23614]
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[Question ID = 6107][Question Description = Q60_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23618]
2. 2 [Option ID = 23619]

3. 3 [Option ID = 23620]
4. 4 [Option ID = 23621]

Correct Answer :-
e 1 [Option ID = 23618]
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[Question ID = 6108][Question Description = Q61_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23622]
2. 2 [Option ID = 23623]
3. 3 [Option ID = 23624]
4. 4 [Option ID = 23625]

Correct Answer :-
e 1 [Option ID = 23622]
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[Question ID = 6109][Question Description = Q62_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23626]
2. 2 [Option ID = 23627]
3. 3 [Option ID = 23628]
4. 4 [Option ID = 23629]
Correct Answer :-

o 1 [Option ID = 23626]
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[Question ID = 6110][Question Description = Q63_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23630]
2. 2 [Option ID = 23631]
3. 3 [Option ID = 23632]
4. 4 [Option ID = 23633]

Correct Answer :-
e 1 [Option ID = 23630]
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[Question ID = 6111][Question Description = Q64_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23634]
2. 2 [Option ID = 23635]
3. 3 [Option ID = 23636]
4. 4 [Option ID = 23637]

Correct Answer :-
e 1 [Option ID = 23634]
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[Question ID = 6112][Question Description = Q65_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23638]
2. 2 [Option ID = 23639]
3. 3 [Option ID = 23640]
4. 4 [Option ID = 23641]

Correct Answer :-

e 1 [Option ID = 23638]
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[Question ID = 6113][Question Description = Q66_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23642]
2. 2 [Option ID = 23643]
3. 3 [Option ID = 23644]
4. 4 [Option ID = 23645]

Correct Answer :-



e 1 [Option ID = 23642]

A alaiWl (6 g "3 Haal) el xaulad
Single entry .1
Single entry accounting 2
Single note accounting 3

Single accounting 4

[Question ID = 6114][Question Description = Q67_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23646]

2. 2 [Option ID = 23647]

3. 3 [Option ID = 23648]

4. 4 [Option ID = 23649]

Correct Answer :-

e 1 [Option ID = 23646]

An 2l sl Multilateral Agreement’

Ol 93 O AL 4
Y Baaeia AglE) 3

8 ale e g 58 Cann Rlalluir 8LES) 4

[Question ID = 6115][Question Description = Q68_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23650]

2. 2 [Option ID = 23651]

3. 3 [Option ID = 23652]

4. 4 [Option ID = 23653]

Correct Answer :-

e 1 [Option ID = 23650]

A ks Wb (g gl Manll Hiatenin"
Unmanageable document .1

Unmatured coupon 2
Unmarketable coupon 3

Unmarketable title 4



[Question ID = 6116][Question Description = Q69_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23654]
2. 2 [Option ID = 23655]
3. 3 [Option ID = 23656]
4. 4 [Option ID = 23657]

Correct Answer :-
e 1 [Option ID = 23654]

t."_\'uJLq'l 2 1

Cl ke 2

&'IJLA‘ (PN 4

[Question ID = 6117][Question Description = Q70_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23658]
2. 2 [Option ID = 23659]
3. 3 [Option ID = 23660]
4. 4 [Option ID = 23661]

Correct Answer :-
e 1 [Option ID = 23658]

"5 5 Alaed saic
S
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[Question ID = 6118][Question Description = Q71_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23662]
2. 2 [Option ID = 23663]
3. 3 [Option ID = 23664]
4. 4 [Option ID = 23665]

Correct Answer :-
e 1 [Option ID = 23662]

B IEEN PR A N NPV VP - S eV g
sC dasa |
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[Question ID = 6119][Question Description = Q72_5S2_qSNz_PG_ARA_A]



1. 1 [Option ID = 23666]
2. 2 [Option ID = 23667]
3. 3 [Option ID = 23668]
4. 4 [Option ID = 23669]
Correct Answer :-

e 1 [Option ID = 23666]

A ) 3 5 A paiSasl) 63 el 4
B el camu o1 ci Sy o8 salall o
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ol 3 all camis ) g 3,8l 4

[Question ID = 6120][Question Description = Q73_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23670]

2. 2 [Option ID = 23671]

3. 3 [Option ID = 23672]

4. 4 [Option ID = 23673]

Correct Answer :-

e 1 [Option ID = 23670]

ta el (a5 Gpus ~da O i ) Sl
geanil] et S5 feals SBEA

8 5Y) & e ladS-B

Crppnat 3 838 3y e gl 8 ) il Laa3S-C
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Choose the correct answer from the options given below :

A-B-C .1
A-B-D 2
A-C-D 3
A-B-C-D 4

[Question ID = 6121][Question Description = Q74_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23674]
2. 2 [Option ID = 23675]
3. 3 [Option ID = 23676]
4. 4 [Option ID = 23677]

Correct Answer :-

e 1 [Option ID = 23674]
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A-B 1

A-B-C-D 2

A-C-D 3

A-B-D 4

[Question ID = 6122][Question Description = Q75_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23678]
2. 2 [Option ID = 23679]
3. 3 [Option ID = 23680]
4. 4 [Option ID = 23681]

Correct Answer :-
e 1 [Option ID = 23678]

agild 5 7oy ) 55 o olial () 5SAl) o) el i
asn) o Jails-A
6250 (ol 3 5050-B
Ol ke dia-C
5 pas llae-D
B-A-C-D .1
D-A-B-C 2
A-B-D-C 3
C-A-D-B 4

[Question ID = 6123][Question Description = Q76_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23682]
2. 2 [Option ID = 23683]
3. 3 [Option ID = 23684]
4. 4 [Option ID = 23685]

Correct Answer :-
e 1 [Option ID = 23682]



g P e pp el i 00
IS EPRTY Y\
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A-C-D-B .1
B-C-D-A 2
C-A-B-D 3
D-B-C-A 4

[Question ID = 6124][Question Description = Q77_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23686]

2. 2 [Option ID = 23687]

3. 3 [Option ID = 23688]

4. 4 [Option ID = 23689]

Correct Answer :-

e 1 [Option ID = 23686]

Aaldll Adasl Il eliac (pe LIS
Ol obe JA-A
sl i B
s ) Fra da-C
s zessllae-D

A-B 1

B-D 2

A-C 3

C-D 4

[Question ID = 6125][Question Description = Q78_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23690]
2. 2 [Option ID = 23691]
3. 3 [Option ID = 23692]
4. 4 [Option ID = 23693]

Correct Answer :-
e 1 [Option ID = 23690]
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A-C-B-D 1
B-A-C-D 2
C-B-D-A 3
D-A-B-C 4

[Question ID = 6126][Question Description = Q79_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23694]

2. 2 [Option ID = 23695]

3. 3 [Option ID = 23696]

4. 4 [Option ID = 23697]

Correct Answer :-

e 1 [Option ID = 23694]

A g olill il ga palan]
nbad) At o i) cilad-A
Sl aley) Uage e Auils (5 guall-B
BENUSTHING:
Risia i diaa e 2l Cal pal-D
A-C 1
B-C 2
A-D 3
C-D 4

[Question ID = 6127][Question Description = Q80_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23698]
2. 2 [Option ID = 23699]
3. 3 [Option ID = 23700]
4. 4 [Option ID = 23701]

Correct Answer :-
e 1 [Option ID = 23698]



:Statement |

OS5 — 325 (o S slall Jabis 050l S

—ull 5 pa) sa g0Vl jaial

:Statement |l
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In the light of the above statements, choose the most appropriate
answer from the options given below

Both statements | and Statement Il are correct .1
Both Statement | and Statement Il are incorrect 2
Statement | is correct but Statement Il is incorrect 3
Statement | is incorrect but Statement Il is correct 4

[Question ID = 6128][Question Description = Q81_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23702]

2. 2 [Option ID = 23703]

3. 3 [Option ID = 23704]

4. 4 [Option ID = 23705]

Correct Answer :-

e 1 [Option ID = 23702]

Statement |

oS5 lasSia s ol a5 o) e Gl s
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—odlea Ga ) Ja camla g Gall ) aa ) & caedl

In the light of the above statements, choose the most appropriate
answer from the options given below

Both statement | and Statement |l are correct .1
Both Statement | and Statement |l are incorrect 2
Statement | is correct but Statement Il is incorrect 3
Statement | is incorrect but Statement |l is correct 4

[Question ID = 6129][Question Description = Q82_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23706]
2. 2 [Option ID = 23707]



3. 3 [Option ID = 23708]
4. 4 [Option ID = 23709]

Correct Answer :-

e 1 [Option ID = 23706]

-Statement |

O sl 2bilae Jlael e da gy (8wl yal Ladla dasa ol
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Ly ) e o gl 855 i o pee WS Wy ek U ey e b il

‘Statement |l

&l 8 gl Jala cpally s Sy (Gilis g 1876 2w

In the light of the above statements, choose the most appropriate
answer from the options given below

Both statement | and Statement Il are true .1
Both Statement | and Statement || are false 2
Statement | is true but Statement || is false 3
Statement | is false but Statement |l is true 4

[Question ID = 6130][Question Description = Q83_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23710]
2. 2 [Option ID = 23711]
3. 3 [Option ID = 23712]
4. 4 [Option ID = 23713]

Correct Answer :-
e 1 [Option ID = 23710]

:Statement | 5 dhaud (o o il #2150 ol
Al Jlael (1o 2iare o Allaud

‘Statement |l

Ol Jleel (e allaid

In the light of the above statements, choose the most appropriate
answer from the options given below

Both statement | and Statement Il are true .1
Both Statement | and Statement Il are false 2
Statement | is true but Statement Il is false 3
Statement | is false but Statement |l is true 4



[Question ID = 6131][Question Description = Q84_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23714]
2. 2 [Option ID = 23715]
3. 3 [Option ID = 23716]
4. 4 [Option ID = 23717]

Correct Answer :-

e 1 [Option ID = 23714]

Match list | with List Il

List | List Il
A SN a3 Gl
B Laall o) Aaay )
& G T TR Y e e
D 230 A3 )yl IV sl b))

Choose the correct answer from the option give below :

A-IL, B-1V, C-111, D-1 1
A-lll, B-IV, C-I, D-Il 2
A-ll, B-1V, C-I, D-lll 3
A-1V, B-Il, C-I, D-Ill 4

[Question ID = 6132][Question Description = Q85_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23718]
2. 2 [Option ID = 23719]
3. 3 [Option ID = 23720]
4. 4 [Option ID = 23721]

Correct Answer :-
e 1 [Option ID = 23718]

* Match List | with List II
List | List II
A SN a2l | 5 ylall 1 5,Y)
B T T TN
¥ Sl jd ull) Il S gall
D ALy e Al IV adall (e

Choose the correct answer from the options given below :

A-l, B-IlI, C-1V, D-lll 1
A-Il, B-lll, C-1, D-IV 2
A-lll, B-1V, C-Il, D-l 3
A-1V, B-Il, C-lll, D-I 4

[Question ID = 6133][Question Description = Q86_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23722]
2. 2 [Option ID = 23723]
3. 3 [Option ID = 23724]
4. 4 [Option ID = 23725]

Correct Answer :-
e 1 [Option ID = 23722]



Match List | with List Il

List | List Il
A Oloss & o) el <=l adal
B Gla i el Luall a
C Uy T T
D Gl ) IV bl 5 5

Choose the correct answer from the options give below :

A-ll, B-1ll, C-1V, D-l .1
A-ll, BV, C-, D-lll 2
A-1V, B-ll, C-I, D-III 3
A-lll, B-l, C-IV, D-Il 4

[Question ID = 6134][Question Description = Q87_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23726]
2. 2 [Option ID = 23727]
3. 3 [Option ID = 23728]
4. 4 [Option ID = 23729]

Correct Answer :-
e 1 [Option ID = 23726]

Match List | with List Il
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A Cubdlaall 2w o | @aLi gl S ) daal
B ol zelaal || aalls gana (e
C Ol zeleal I Ol s gl
D Aaalil) 2dasl I} 1V 35 ) (oabis 3 gana

Choose the correct answer from the options given below :

A-1, B-lll, C-ll, D-IV 1
A-ll, B-IV, C-IIl, D-1 2
A-1V, B-l, C-Il, D-lll 3
A-lll, B-Il, C-IV, D-l 4

[Question ID = 6135][Question Description = Q88_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23730]
2. 2 [Option ID = 23731]
3. 3 [Option ID = 23732]
4. 4 [Option ID = 23733]

Correct Answer :-
e 1 [Option ID = 23730]

Match List | with List Il

List | List I
A A S Cphall A3ad
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¥ Sl Gl dlae| )] hall 83 gl
D ol aily IV Oablad g AS35ke




Choose the correct answer from the options given below :

A-ll, B-Ill, C-1V, D-l .1
A-l, B-lll, C-ll, D-IV 2
A-1V, B-ll, C-lll, D-I 3
A-lll, B-I, C-1V, D-Il 4

[Question ID = 6136][Question Description = Q89_S2_qSNz_PG_ARA_A]
1. 1 [Option ID = 23734]
2. 2 [Option ID = 23735]
3. 3 [Option ID = 23736]
4. 4 [Option ID = 23737]

Correct Answer :-

e 1 [Option ID = 23734]

Match List | with List Il

List I List Il

: R | Aall) 2 )3 (8 Al e
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D sl eIV glasll gl

Choose the correct answer from the options given below

A-ll, B-I, C-1V, D-lll 1

A-l, B-Il, C-lll, D-IV 2

A-lll, B-1V, C-I, D-ll 3

A-1V, B-1ll, C-Il, D-l 4
[Question ID = 6137][Question Description = Q90_S2_qSNz_PG_ARA_A]

1.1

[Option ID = 23738]
2.2

[Option ID = 23739]
3.3

[Option ID = 23740]
4. 4

[Option ID = 23741]

Correct Answer :-
e 1

[Option ID = 23738]
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[Question ID = 6143][Question Description = Q91_S2_qSNz_PG_ARA__B]
1. 1 [Option ID = 23762]
2. 2 [Option ID = 23763]
3. 3 [Option ID = 23764]
4. 4 [Option ID = 23765]

Correct Answer :-
e 1 [Option ID = 23762]
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[Question ID = 6144][Question Description = Q92_S2_qSNz_PG_ARA__B]
1. 1 [Option ID = 23766]
2. 2 [Option ID = 23767]
3. 3 [Option ID = 23768]
4. 4 [Option ID = 23769]

Correct Answer :-
e 1 [Option ID = 23766]
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[Question ID = 6145][Question Description = Q93_S2_qSNz_PG_ARA__B]
1. 1 [Option ID = 23770]
2. 2 [Option ID = 23771]
3. 3 [Option ID = 23772]
4. 4 [Option ID = 23773]

Correct Answer :-
e 1 [Option ID = 23770]
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[Question ID = 6146][Question Description = Q94_S2_qSNz_PG_ARA__B]
1. 1 [Option ID = 23774]
2. 2 [Option ID = 23775]
3. 3 [Option ID = 23776]
4. 4 [Option ID = 23777]

Correct Answer :-
e 1 [Option ID = 23774]
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[Question ID = 6147][Question Description = Q95_S2_qSNz_PG_ARA__B]
1. 1 [Option ID = 23778]
2. 2 [Option ID = 23779]

3. 3 [Option ID = 23780]
4. 4 [Option ID = 23781]

Correct Answer :-
e 1 [Option ID = 23778]

Topic:- Arabic_Re_C
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[Question ID = 6153][Question Description = Q96_S2_qSNz_PG_ARA_C]
1.1

[Option ID = 23802]
2.2

[Option ID = 23803]
3.3

[Option ID = 23804]
4. 4

[Option ID = 23805]

Correct Answer :-
® 1

[Option ID = 23802]
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[Question ID = 6154][Question Description = Q97_S2_qSNz_PG_ARA_C]

1.1

[Option ID = 23806]
2.2

[Option ID = 23807]
3.3

[Option ID = 23808]
4. 4



[Option ID = 23809]

Correct Answer :-
e 1

[Option ID = 23806]
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[Question ID = 6155][Question Description = Q98_S2_qSNz_PG_ARA_C]
1.1

[Option ID = 23810]
2.2

[Option ID = 23811]
3.3

[Option ID = 23812]
4. 4

[Option ID = 23813]

Correct Answer :-
e 1

[Option ID = 23810]
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[Question ID = 6156][Question Description = Q99_S2_qSNz_PG_ARA_C]
1.1

[Option ID = 23814]
2.2

[Option ID = 23815]
3.3

[Option ID = 23816]
4. 4

[Option ID = 23817]

Correct Answer :-
e 1

[Option ID = 23814]
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[Question ID = 6158][Question Description = Q100_S2_qSNz_PG_ARA_C]
1.1

[Option ID = 23822]
2.2

[Option ID = 23823]
3.3

[Option ID = 23824]
4. 4

[Option ID = 23825]
Correct Answer :-
e 1

[Option ID = 23822]





